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2004 2005 2006
- 1 -
- 20 -
7 -
1 1 1
100 100 100
, 100 , 100 , 100




20,469,158 3,091,749 17,377,409 [ 15,145,000 ]

20,424,040 3,047,970 17,376,070| [ 15,145,000 ]

19,910,549 3,005,429 16,905,120| [ 14,800,000 ]

3,413,701 1,010,204 2,403,497| [ 2,000,000 ]
450,300 802,707 352,407

(3210-3218-120-201-01)

100,000 * 1 *3 = 300
(3210-3218-220-402-01)
= 350,000
= 100,000
958,994 207,497 751,497
(3210-3218-120-202-01)
2006
49,900 * 3 * 2 *10 = 2,994
(3210-3218-120-202-03)
4,000,000 * 1 *1 = 4,000
(3210-3218-120-203-03)
2006 = 2,000
(3210-3218-120-307-04)
2006 = 600,000
2005 = 100,000
(3210-3218-220-402-01)
«C ) = 250,000
2,004,407 0 2004407[[ 2,000,000 ]

(3210-3218-120-201-01)

70,000 * 1 * 13 910

(3210-3218-120-202-01)




( )
49,900 * 3 *2 *5 = 1,497
(3210-3218-120-203-03)
= 2,000
(3210-3218-210-402-01)
= 2,000,000
[ 2,000,000 ]
6- 8,008,097 410,024 7,598,073 [ 5,500,000 ]
Dream Map21 7,402,497 0 7,402,497 [ 5,500,000 ]
(3210-3218-120-202-01)
49,900 *3 *2 *5 = 1,497
(3210-3218-120-203-03)
= 1,000
(3210-3218-210-402-01)
= 2,500,000
L 1,500,000 1,000,000]
= 2,900,000
[ 2,000,000 900,000]
= 2,000,000
L 2,000,000 ]
405,400 410,024 4,624
(3210-3218-120-201-01)
3,000 *3 * 100 = 900
70,000 * 4 *15 = 4,200
( )
100,000 *1 *3 = 300
(3210-3218-120-307-02)
= 100,000

100,000




( )
(3210-3218-220-402-01)
= 200,000
Rk 2005) (MARINE 200,200 0 200,200
(3210-3218-120-301-11)
50,000 * 4 *1 = 200
(3210-3218-120-307-04)
2005 = 200,000
6- 8,054,994 1,105,497 6,949497|[ 7,300,000 ]
21 450,000 450,000 0
(3210-3218-220-402-01)
21 = 450,000
7,302,994 502,000 6,800,994/ [ 7,300,000 ]
(3210-3218-120-202-01)
49,900 * 3 *2 *10 = 2,994
(3210-3218-210-402-01)
MEMS/NANO = 3,000,000
[ 3,000,000 ]
4,300,000
[ 4,300,000 ]
2005 302,000 153,497 148,503
(3210-3218-120-203-03)
= 2,000
(3210-3218-120-307-04)
2005 = 300,000
6- 433,757 479,704 45,947
11 302,097 302,097 0

(3210-3218-120-201-01)
- 11




)
4,000 * 150 = 600
(3210-3218-120-202-01)
150 49,900 * 3 *2 *5 = 1,497
(3210-3218-220-402-01)
11 4,000,000 * 75 = 300,000
98,240 140,100 41,860
(3210-3218-120-201-01)
1,000 * 800 = 800
70,000 * 1 * 17 = 1,190
(3210-3218-120-301-07)
(=10,000)
1,600,000 * 5 * 50% = 4,000
1,200,000 * 5 * 50% = 3,000
1,200,000 * 5 * 50% = 3,000
(3210-3218-120-301-11)
50,000 * 5 * 1 = 250
100,000 * 2 *10 *2 = 4,000
(3210-3218-120-307-02)
= 10,000
(=60,000)
= 30,000
= 30,000
(3210-3218-120-307-04)
= 12,000
24,000 22,000 2,000

(3210-3218-120-301-11)
(=14,000)




(3210-3218-210-201-01)

1,000,000 * 7 7,000
500,000 * 14 7,000
(3210-3218-120-307-04)
10,000
9,420 15,507 6,087
(3210-3218-120-201-01)
( 100 * 4,500 450
35,000 * 10 350
(=2,074)
- 120,000 * 12 1,440
- 50,000 * 12 600
- 34
273,000 * 2 546
1,400
(3210-3218-120-202-02)
150,000 * 2 * 12 3,600
(3210-3218-220-206-00)
(=1,000)
5,000 * 100 * 2 1,000
7: 513,491 42,541 470950(|[ 345,000 ]
7- 475,397 4,547 470850(|[ 345,000 ]
51,900 4,547 47353|[ 50,000 ]
(3210-3218-120-201-01)
200,000 * 1 * 8 1,600
(3210-3218-120-301-11)
50,000 * 6 * 1 300




)
36,000
[ 36,000 ]
(3210-3218-210-202-03)
8,000
[ 8,000 ]
(3210-3218-210-301-11)
6,000
[ 6,000 ]
423,497 0 423497\ 295,000 ]
(3210-3218-120-202-01)
49,900 * 3 *2 *5 1,497
(3210-3218-120-203-03)
2,000
(3210-3218-210-307-02)
40,000
[ 40,000 ]
(3210-3218-210-401-01)
140,000
[ 98,000 42,000]
(3210-3218-210-403-01)
180,000
[ 108,000 72,000]
(3210-3218-210-703-00)
60,000
[ 49,000 11,000]
7- 38,094 37,994 100
38,094 37,994 100




(3210-3218-120-201-01)

- 4,000 * 150 = 600
5,000 * 600 = 3,000

(3210-3218-120-202-01)
49,900 *3 *2 *5 = 1,497
49,900 *3 *2 *5 = 1,497

(3210-3218-120-301-11)
50,000 * 10 *1 = 500

(3210-3218-220-207-01)
13,000,000 * 1 = 13,000

(3210-3218-220-401-01)
= 18,000

45,118 43,779 1,339

(3210-3218-120-201-01)
= 9,698
5,000 * 23 *7 *12 = 9,660

(3210-3218-120-202-01)
10,000 * 8 *21 *12 = 20,160

(3210-3218-120-203-04)
300,000 * 12 = 3,600

(3210-3218-220-405-01)
1,000,000 * 2 = 2,000




